Wiederholung: Faktorisierung

424 f2 — 30e3 f6 4 722 5

60z4y? — 90z4y> + 1523y

—80a’b*c? — 100a3b°c? + 160a2b°

8413¢g5h? + 12¢g*h — 36 f*¢°hS
(a—0b)-2a—(a—10b)-3b+T7(a—Db)
(z+y)?—z—y+ (22 +2y) 3z

3ac — Had + 3bc — bbd

2a%x — babz + 7b%x — 2a%y + Haby — Th%y

6fk —15f1 + 3f + 29k — 5gl + g — 4hk + 10kl — 2h
2,56a8 — 2,89b5¢4

14428y* + 2520 + 12001y 23

—170e% f3gh? + 25e* 6 4 289¢°h*

150a*b3 — 540a3b° + 486a%b7

7228y + 7228y + 182y

324k% — Al*m? + 1202mn — 9In?

16a*b% — 24a2b3c? + 9c* — 25240

49a? — 70ab? 4 25b* — 16¢? — 56¢d? — 49d*

duw? — 28uw?a + 49uz? — 8vw?* + 56vw3z — 98vr?
81rs® — 72r2s15 4 16t12



Losungen:

a)  6e2f2(7e? — beft 4+ 12f3) b) 1523y%(4x — 6zy> + 1)

c) 20a%b*(—4a3c® — 5abc? + 8b?) d) 12¢*h(7f3gh +1 — 3f4gh)

e) (a—b)(2a—3b+7) ) @+yTz+y-1)

9) (a+b)(3c—>5d) h) (z —y)(2a® — 5ab + 7b?)

) (3f +g—2n)(2k — 51+ 1) D (1,6a* +1,763¢%)(1,6a* — 1,763¢?)

K) (122%y% + 523)? ) (5e2f3 —17gh?)?

m) 6a%b®(5a — 9b?)? n) 18z%y(2x? + 1)2

0) (18K + 21°m — 3n)(18k — 2[®>m + 3n) p) (44’63 — 3c® +5f¢3)(4a?b® — 3¢ — 5f¢3)

q) (7a—5b%+4c+7d%)(Ta —5b* —4c—7d%) 1) (u—2v)(2w? — Tz)?
s)  (3rs? +2t3)2(3rs? — 2t3)2



